2024 Jai s — 10 H &2 — PR HF 3K
UESEEER

L [&%]cC
[ e byr ] i P 2 e aod A2 v h ™ 2 O IR M ) PR S B R SL R AN R , NaHC O, 5188 s 17 B A0 RV, A HURAF 4 R
A TR EAR AN BRI T, B IAAT &0 15 1k 5 W A AT 25 53 /K A P 1 Sk, R T B A
C AT HE Al S5 g a2 e rh g Sio, 0, I8 F1kp stk D IR FF A i

AB%E]A
[ f#47 ] NaFe (SO, ), - 6H,0 #4328 B Tk b il A B AR I 1A, BE SR UTK 2R R bk, S ks 7
A AEARIETC G, A TAFA RIS 5 97 48 AT AN TR T s B R, T P T s B, B I0UR A5 4 AR 5 S0, HLAY
IR, 5 58 SN, LU A T A SO, EFT AL, C TURFT &R0 5 84 I T A4 32 B 4 9 R SRR
AR HA R A, BB R R B DI A R .

J%%]c
[ H7 ] MnO, Y3 Tork ; KGUB 6T7K , 4385 MnO, il KC IR 4057 00 52 4 VS ok e i 5 i, JH 80 i 4
A BRI AL , AT E A R B Q] TR BB 2R T (KU ) A5 23 00 RO AR i8R
95 BE 28 S R SRS 80 W 5 B L 2 A/ N AR B 7 6 R 4, B T3 LE ) 5 B 4R 4 52 8 P 75 2 1
FIZE ML, MG ZHHR , TG E A, C IR ; Bt i 480 mL — 52 49 i (1) o Wk S5 1) 78 Y 7 2 ik ) 500 mL %
L W BRI B ARy i R BRI, TR A A 30 28 58 TR PR AU EE R4 51 500 mL 28 BHf R, D IIEA

%%]D
(At ]H. DT BB FH 0 1, shFEURICN 0.1 2, BATH AR 2, #0)8 T 200 %, A Wi 55 1A K25
5= DU FEHOCE R RO 22 18, 45k 13 SO0 K BN 31 S00E, BT R 52218, B Wi
T U Z 5 2 A S A A B AR DR PR 2 DT A% S e T A S SO AR Ak, C A 158 5 AR o et ST 4 el o < i
A, a 90, 2 38 M By TRk 52, TS R TR 2500 14,D TIEH

[&Z]D
[ftr] 1 Ca(ClO), ¥ P E A CO, A, & 2B B B 85 1 O B 2ih, Ca™ +2€10° + €O, + H,0 ==
2HCIO + CaCO, | ,D Tifi%,

%%]B
(AdT ) A8 T RYBRG T, AR IR AR O, , BRI ARG b =1 A ek Sk 5 B 0 B [0
AJE B NaOH 3900, B VR4 v e, B & A S A AAR AR ) B A5 20 2148 (o DT , B A S Sk I D T £
RAWIH—E A B i A A B SR A, nDR Ak B A =Bk T, = ek s 7l S i en
HRES TR AR A 33, A4 B R SR AR AN U T8 | s S A A LA T AR, K T 2 B TSR — ik g
+, 1 AN 57K SR AE 1 NaOH, NaOH 7] 575 2 57 A i SR AR TTVE , L nT 5 8k 2 B AR il S AR BR DT TE
JF LA 40 Fh = b S 2E B IR A, ZE AT B o ik SR Ak ALk B AR e S Ak ALk AR AR, B
R

J%%]c
[fr] AL S B M S =2 H, S, R4 B i & 2B IO k247 B2 R CuCl, + H,S ==CuS | +2HCl, A
I A S D R RN A O H,S +4Br, +4H,0 ==H,S0, + 8HBr, H,S i JFI], HBr ik J5
Wy R JFYE - H,S > Br ™, B IIEH; g H,S it B if Je/ b i Fe’ Al H,S #f & [V :2Fe’ + H,S ==2Fe’* +S |
+2H " SV — HRLE, A SAT FeS SBAVTHEA A, C WASER i A b, 250040550 B 8 S0 2 R I M
Ak SURBR AT, & 25 R Ak 2F 5 23Xl Na, S, + H,S0, ==Na,S0, + H,S T + (x—1)S | ,D HEH,

ez 2 1 (3 S i)




8.

9.

10

11.

12.

13.

14.

[%%]8B

[t 13RmRh HCL g4 B o HY R CL 3RO PANAATE HCL 205, A TR 2R 1 mol NO I 4£3% 3 mol L7,
B 0. 1 mol NO IHES 0.3 mol ¥, B I ; S AL5] /& HNO, , il J5GR /2 HeS, R A 2 5 S iR J5U%
JO2, THFE 1 mol 2 AT A [R] I 5 ZEHAE 1.5 mol 3 JFURI, B W B 2 Loy 2 0 3, C IR IR 42 1 3. mol S I, []
A2 8 mol H—O ##,9.6 ¢ S (MBI AT 0.3 mol ,MILEAL 9.6 ¢ S I, Al AR AR S B 194 H 0 0. 8N, , D 15

R

[Z%]D

(BT Cu (10, ), H9HLES LS Cu(10, ), ——Cu’* +210; , 8§ VB 7 BSU AT 18 200 ~ 1, ~ 25,02 ,210;
-3

~61, ~128,0% .1 mol Cu(10,), A3 T4 B AE 13 mol Na,Si04. clCu(10,), ] =CV(>)<11O xll—3 mol + 17! =

cV mol + L' D I IE#f

1300 > BUES o

(%%%]B

(AT ] B AR, SR 1 2 S Cl, 25 NaOHOB IRAEAN RN S50 A BB AR SO, BE 1 254 1 Ak 5 36
JE = BT i 2 B 1 L B 2 P T S8 W) S 5= W Y B i s 2 ek 10 5, %0 i A2y 5 /8
TN 1:CL, +2NaOH{( %) NaCl + NaClO + H,0; Jz Jif 2:3Cl, + 6NaOH ( #) ==5NaCl + NaClO, +3H,0,
JIE 1 AR 2 A SGEHE DR TR EE AR SN 1 451 il 48 847 JHEE W, A WUIEM ; )iy 1 rh i Ak =90
NaClO, J )i 2 $ S8 1k 7= 4028 NaClO, , 495 P B iz i) 4k 27 5 B =) i, TH A S5 4 ot i 2 19 CL,, 2 i Ak
PR Y ANAR S, B IR R FRAEIRL TS ,6. 72 L CL B9 BTAYEE 0.3 mol, J2 )i 2 H10.3 mol Cl, 58422
;[T 5%7% 0.5 mol M1+, C THUIE A ; 7R3 m IR T, IR IR AN A€ , 2 & A B AR S < 3NaCl0 ==2NaCl +
NaGlO, , D I 1F7ff .

[%%]D

[ At ] B T EPE, CL 3 TR A @R B B A, A TR R R S 7K R 23 A U B A B 1
SHRE TG 2 AgCl FEDINE , AREULRA A BT—E J2 HCL, B TURE 5% in A SUAL B0 8 VRV R3S 2045,
B Rk L A8 o (H R BE VLR 2 58 228 5, C WA 1 s iRt - H, CO, > H,Si0, , ARG JE 143 > Si, D JiUIEH .
[%&%]C

(AT ] B RV MR AR 2T e ] 1, R 20, 0 R O HOTE sl Z A &R oo BARS RX\VY i FF— AW, m e
AT ANV T2 AR T 0, T AT RE M AL BE sl A B 72 S Mg oo S L MU SO A i A T
MIHTly Mgy N, , 220 H,03; Mg, N, 1 H,0 Sz Az i NH, 1 Mg ( OH),, U T A Mg (OH),, it R HEITER, X HA
JLER,Y HEICR,Z ABEITR . B VA VAW TR R AR, A IUE S XORTY (4 B AR 0 o A
SHUK K ARG E B WUER s Mg, N, 2 G Y, S HE 5 2B T, e T8, C IR 5 X s i
AP LK AE ) HNO,  HNO, J25R R, D JIER

[%&%]C

[t ) b va T 888l vl 3, D R SR s ek Fe™ 17 Br™ Azl Fe™ Br, |1, n(Fe™) =0.2¢ mol,n(Br") =
0.2¢ mol,n(17) =0.2¢ mol, K3FEHITF-5F1E 1] 41,0. 6¢ mol =0. 12 mol,c =0.2, H LA A, n(Fe*) =0. 04 mol,
n(Br ) =0.04 mol,n(1") =0.04 mol, WJFEPM: 1" >Fe™ >Br , Fh G I iR L T8 &8k, B TRl
Cl, +21" =1, +2C1", A WU i < PR fa B9 B i 52 0. 08 mol, A 45 £ Hpiill A S8 B 1Y 524
0.04 mol , S MABLH 896 mL(HRHEIRTL) , B AR T AL sl Fe™ Br, |1, M4 (1 MUK K 0. 04 mol |
0.02 mol \0. 02 mol, AT BT EEZ LA 2 1 2 1, C WUER 5 o3l 1, ¢ =0.2,D Tk,

[ #:4&]D

(A AT MR HE S 30 R v R, ZLAR B R A Oy Fe, Oy, BUEIFUCH Fe, (SO, ) 5 WK, LI BITIER Fe(OH) £
TUBE N BaSO, , M 425 Uk be , A2 LAY R IR & A SO, (S0, , M S8k i VBT R o M BR4e s R be A 1
Fe,0, .80, F1 SO, , Fe, 0 5 MR 51 A= BUBi FR BRI T , 1 IR RV WK 55 NaOH ¥ S A 1 Fe (OH) 4 2145 €5,
TUVE ;4% SO, I SO, IR A MG AL B BUE/K 1, WU K 5 SO, Buii Az it H, S0, ,80, 57K i £k 1 H,80, , il

fezg 22 (35 )




15.

16.

TR Z2 0 W 3 ) U4 K 23 ik, B 1k SR e 0 7 o A R A 48 7R 381, H, S0, 5 NaOH . 95 05V A2 i

. " ‘ . 1.60
Na, S0, ,Na, SO, FIJHERRRER 1L I BaCl, W S A= i BaSO, FIETITIE, n(Fe,0,) :m

A Y Fe(OH) 5 FBRER 0.01 mol x2 x 107 g « mol ™' =2. 14 ¢, A TR ;_LiRinfR i K e Abit I s AT M
73 EBE, SO, FREEIK UL, WEEUK 53 ifk 95 Je 3 A 4EAIE JEUSNE , B J0URE 15 3 U0 B TG e B VAU, mT LA
eIk EY FH AV EFRE ), C TS5 n (NaOH ) =0.4 mol + L' x0.2 L =008 mol,n(S) =n(H,S0,) =0.04 mol,

4.32 ¢.-0.04 mol x32 g =unol "' —0.02 mol x56 g - mol '
16 g + mol '

=0.12 mol,M 1 Fe S .0 BT/ H.40.02 mol : 0.04 mol : 0. 12 mol =1 : 2 : 6, M yfk2EztN FeS,0,,D 1
B,

(%] (1)Ar(1 43)

[ PEorbrifE . 5 B

() =T IVA (2 43)

(3)AL(OH), +3HCIO, =—=Al( C10,)¢+3H50(2 4})

[ PFoHm it < 2 7 4 8 A i it A R B 1 B P R Y AR A543 )

(4)H,0(1 73)

[ PEArhRiE . B RAS )

VIE(2 4)

(5)AL(OH) < H,8i0, < HCIO, (2 4})

[ PP pmifE : 5 7 FRANS433 5 “ HC10, > H,Si0, > AL(OH) ;" A543 ]

(6)ALO;$20H —=A10, +H,0(2 4})

[ PEoAm e« S A i S 4t R QAR Tie S ol - 1R Y R A543

(7)ALCL (2 %})

[ PEorbrifE . 5 AR AFS )

[#AT ] A EFFECH a, M a+ (a+1) +(a+7) +(a+6) +(a+10) + (a+11) =77,a=7, A HAHTE,
B % ICE ,C NERICR D MEIGER E HEILR F NEILE,

(D) SECAHASARTCR b2 e .

(2)D MEETCER T = IVA %,

(3) A AL AR R SR & A TR RN, B g B Ak 2= R ATCOH) 5 + 3HC10;' ==A1(Cl0, ) ; +3H,0,
(4)NH, 7E5 T A H0 7EF IR s, Kk s s FaEAGH,0 2S5y VIE,

(5) FFAMICRE N RS, Sem b & AR A TR B s g . O SRR RE R | 5 SRR A R P AR R o
(6)B.C A sib 5 4R ALO;, AL O, AWM E ALY, 5 NaOH ¥ s i 19 25+ 7 #22h AL O, +20H "
—2Al0; +H,0,

(7) R FEETR SR 2 A EA X T i 2 o 1Y B AR G 537 i B0 66. 75 x4 =267, 5% i
(k2R (AICL),  M[ (AIGK) , [\ 5267 g » mol ™' ,n =2, IZH A 4k2E 20 AL Cl,

=0.0J} mol,

n(Fe) =2n(Fe,0,) =0.02 mol ,M EE W)= :n(0) =

(%] (1)H 0 :Cl 014

(2)Mn0, +4H"% 201 ===NMn>* +CL, 1 +2H,0(2 4})

[ gt : S0 188 ) 5 4 O R OR IC T BBC AR R S AR 43 I B SARAF5 O 2544 1 453]
1201040

(3).C10"+ H,0 =—=HCIO + OH (2 43)

(iForbnde: XS %51 4]

c(Na*) >c(ClO7) >c(OH™) >c(H") (2 43)

ez 2 3 (35 )



17.

[EAMRHE . B“c(H") <c(OH™) <c(ClO7) <e(Na®™)” thig4)]

(4)Fe;0,(1 7))

[ PForpnif . 5 A RT3 ]

Ferk B IR TTE , J5 1 6 LR DTS G AE Ry IR Gk £, | Fe 228 MRS (L (2 43)

4Fe(OH), + 0, +2H,0 ==4Fe( OH), (2 4})

[P o b : RO kA S 4 R R T T S P45 IR A5 47 ]

(5)0.56(2 %))

[ AT VAR A S P T 0, A OGS A BN

e a b c d e f g h i j
fk2es | HCL | ClL, | NaClO % | HCIO Fe FeO Fe(OH), | Fe(OH), | FeCl, % | FeCl, %

(1) AR L a9, 43 He0—CL B oty H Y 0 1l s

A

(2) MR MR — A8 Ak e A 45 S0V - O AR U MnO, +4H ™ +2C1°
A, ERRRAEIE J50) H AR IR, SR S R M i s 2 o 10 2,
(3) WA BREN/K i BV s 22 (B PR VR AR 21, [ B /K i 23 A2 R R , WU B U 1 1k O B TR v
AR L) NaGlO , ¥ e B0 A R 6, 5 1 2 €107 + H,0 ==HCIO + OH ", YR IR FH 7K fifk 175 L 5 ik
P JUHC 5 s T B R/ MEFF R ¢(Na ™) >¢(Cl07 ) >¢(OH™ ) >¢(H™)
(4) S ERAFE , 7R3 S 32 ol A A AR DU S =2k 1 VO I AR ER AL, 1] 1 TG 1 S RN
VR, 2 A R A 0 SARDTTE , Jo A I el s A iR Ry IR (5, 478 Ry Fe (OH); T4 AITTE,
Fe(OH), B TSR Fe(OH), Bk 7 )ifEh 4Fe(OH), + 0, +2H,0 ==4Fe(OH)
(5)ny (Fe™) =0.05 mol , iV & E IV :2Fe’ " + Fe 3Fe’ | BEIHFERMN 19 0 0 0 A o, ARATE B0V S VA AR
r R o 2 ok B A4S RT 40,0, 05 mol —2x =3x,x =0.01 mol,m(Fe) =0.01 mol x56 g - mol ' =0.56g,
(%] (1) +5(143)
ClL, (2 71)
(Vo : 5 A FRAT 47 ]
(2)2Bi,S, +6Mn0, +90, 222983, 0, +6MnSO, (2 43)
[ VF o3P : SN E A ) S i R R IO T B T4 1R 3 A4
Mn 0(2 43)
[ PForbrife . 5 A FRATS51]
(3)% Fe' " W JFA Fe? (2 43)
(4)KSCN(1 43)

OH

Mn®* +CL, 1 +2H,0,MnO, {4

[WEortrifi: 5 (O] NH,SCN.K,[Fe(CN) ] - 3H,0 4457553 ]

(5)Bi(OH), + Cl, + Na%#30H ==NaBiO, +2Cl" +3H,0(2 /})

[ PFom e < 20 A ) B A 7 AR U Bie - sl P 1R Y R A543

(6) >(241)

[ PEadaidf. 5 “ K I A 551]

pH FEAIK , NaBiO, 48 (b M358 (2 43)

[t ) (O, — A4k — 4 5 R ER IR I iy AE il — S b A Ao

(2) Bifbsl . AL AR m R T AR = AL B IR . BT R VLR G M FEAL, Bl R ot R b
S THE R,

ez 2 4 (35 i)
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(3) AR5 H A 2505 ST, A0 B 0250 S5 28 1, W 8K B 2 A T 2% 18 7 0F AU

(4) AT SR ORIy U B B I R SRR S R S T

(5) A A E A AR AE AR ER B AL ENFIIK

(6) B MR4N 5 e ER IR S 0y AE USR0S IR A A8 A A LU S0, % LR B Ry RN /(8 s g A Bl 1k B 45
HEAT A SEES ZERR M AR i ilE AT, PR LRI, B R pH RIS, BRI BG5Sl MR B Y PR 3 o
[%&%] (1) 5wt (1 43)

Ag(2 1)

(IFabrife . B A FRAR 57 )

(2)2AsH; +3CuSO, ==Cu,As | +3H,S0, +As | (2 4})

(PFarbrife - Nl AE S 4 5 R R B sk B P A R A I DO IE AT 541 1 53]

(3) +5 4 (1 43)

(4) <(27)

[PForpnife: 5 /N7 AR 1347 ]

LT B S, U ] A T B B e 2, LS 1o 3tz , ) sk 5 7 2% T 3 B Iz (2 )

(5)®(173)

AsO; +217 +2H" =—=As07~ 1,,+H,0(2 43)

(Vo bl : o ) s IS 5 O R ORI s AR AR 4, BS54 1 47

(AR ] (1) A 2B PR IR IR A ES A PR e 2 o AsH, SRR R & AE Sl A0d I i g, A= B — ol pl o
TG 2R ALY AR €0 A RS, DU A i R 68 [ I BT Ag

(2) AsHy 55 CuSO, Sy AE 1 Cuy As [EIAS —Fsy LA B e A0 2 S0 RN — A [ B 5T, i i v Cu ST 3 AL & i
+ 2 HTREE 1 M, 0 As JTTER—E AT HME AW TG, KRRy As, S & AR H,S0, , I R Ak 2 T
R K 2AsH, +3CuSO, ==Cu,As | +3H,S0, +As |

(3)KMnO, HEEICERE MM +7 MFEZ +2 4 AR5 8 5748, ) AsH, ooz -3 ik +5 M

(4) I H b S 0 A Nag AsO; + 1, + 2NaOH ==Na,; AsO, +2Nal + H, 0, AR 45 /1 J5z iR A 1k 1 I S Ay [, 9 Joa 1)
PR B e A 78 AT Jirt F e ) T BB 2 A, R D e SRR T At & 2 A8 Ak 5 BV N NaOHAR I, 3% 1 o 2 A 1Y A8
JNEA AsOy +1, +20H” ==As0; +21" + H,0 At N Tub, £7 880 0 IE M, WL 30 B M 07 i 07 5 24 v 3 2
TR O B, 52 3 30 A 5 1) FRGE B o 35k 0 s B 1, 2B v BB 18 B S 2R AsQy + 210 + 2H" —==As0] +1,
+ H, 0 B TR , A 8585 A 5B, i 1) B [, DA /N T O H I T TER I SRR 2 ATk 2

(5) AR PR, A0y~ 5 1, GEA N pH A7 5, 1ia) B 8 R FRek i A o 12 I 24 8w & A 1) SR 1
B AsO, " +217 +2H —==As0]” +1, + H,0,

e

Tk
e
=
=



